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1. If ∆(𝑥) = |
𝑥𝑛 sin𝑥 cos𝑥𝑛! 𝑠𝑖𝑛 𝑛π

2
cos

𝑛π
2𝑎 𝑎2 𝑎3 |, then the value of 

𝑑𝑛𝑑𝑥𝑛[ ∆(𝑥)]at 𝑥 = 0 is

a) ―1 b)0 c) 1 d)Dependent of 𝑎
2. For positive numbers 𝑥, 𝑦 and 𝓏, the numerical value of the determinant |

1 log𝑥𝑦 log𝑥𝓏
log𝑦𝑥 1 log𝑦𝓏
log𝓏𝑥 log𝓏𝑦 1 | 

is

a) 0 b)1 c) log𝑒𝑥𝑦𝓏 d)None of these

3. The value of the determinant|
15! 16! 17!
16! 17! 18!
17! 18! 19!|is equal to

a) 15! + 16! b)2(15!)(16!)(17!) c) 15! + 16! + 17! d)16! + 17!

4. If Δ = |
3
4
5𝑥 

4
5
6𝑦 

5
6
7𝑧 

𝑥𝑦𝑧
0

|, then Δ equals

a) (𝑦 ― 2𝑧 + 3𝑥)2

b)(𝑥 ― 2𝑦 + 𝑧)2

c) (𝑥 + 𝑦 + 𝑧)2

d)𝑥2 + 𝑦2 + 𝑧2 ―𝑥𝑦 ― 𝑦𝑧 ― 𝑧𝑥
5. If the system of equations 2𝑥 + 3𝑦 + 5 = 0, 𝑥 + 𝑘𝑦 + 5 = 0, 𝑘𝑥 ― 12𝑦 ― 14 = 0 be consistent, 

then value of 𝑘 is

a) ―2,
12

5
b) ―1,

1

5
c) ―6,

17

5
d)6, ― 12

5

6. If |
𝑏2 + 𝑐2 𝑎𝑏 𝑎𝑐𝑎𝑏 𝑐2 + 𝑎2 𝑏𝑐𝑐𝑎 𝑐𝑏 𝑎2 + 𝑏2| = 𝑘 𝑎2 𝑏2 𝑐2, then 𝑘 is equal to

a) 3 b)2 c) 4 d)None of these

Topic :-  DETERMINANTS

PRERNA EDUCATION https://prernaeducation.co.in 011-41659551 | 9312712114



7. The repeated factor of the determinant

|
𝑦 + 𝑧 𝑥 𝑦𝑧 + 𝑥 𝑧 𝑥𝑥 + 𝑦 𝑦 𝑧|, is

a) 𝑧 ― 𝑥 b)𝑥 ― 𝑦 c) 𝑦 ― 𝑧 d)None of these

8. The determinant|
4 + 𝑥2 ―6 ―2―6 9 + 𝑥2 3―2 3 1 + 𝑥2| is not divisible by

a) 𝑥 b)𝑥3 c) 14 + 𝑥2 d)𝑥5

9. If 𝑎,𝑏,𝑐 are different, then the value of 𝑥 satisfying |
0 𝑥2 ― 𝑎 𝑥3 ― 𝑏𝑥2 + 𝑎 0 𝑥2 + 𝑐𝑥4 + 𝑎 𝑥 ― 𝑐 0

| = 0 is

a)𝑎 b)𝑏 c) 𝑐 d)0

10. Determinant |
𝑏2 + 𝑐2 𝑎2 𝑎2𝑏2 𝑐2 + 𝑎2 𝑏2𝑐2 𝑐2 𝑎2 + 𝑏2| is equal to

a)𝑎𝑏𝑐 b)4 𝑎𝑏𝑐 c) 4𝑎2𝑏2𝑐2 d)𝑎2𝑏2𝑐2

11. If 𝑎 ≠ 𝑝,𝑏 ≠ 𝑞, 𝑐 ≠ 𝑟 and |
𝑝 𝑏 𝑐𝑝 + 𝑎 𝑞 + 𝑏 2𝑐𝑎 𝑏 𝑟 | = 0,then

𝑝𝑝 ― 𝑎 +
𝑞𝑞 ― 𝑏 +

𝑟𝑟 ― 𝑐is equal to

a) 0 b)1 c) 2 d)3

12. |
𝑎 + 𝑏 + 2𝑐 𝑎 𝑏𝑐 2𝑎 + 𝑏 + 𝑐 𝑏𝑐 𝑎 𝑎 + 2𝑏 + 𝑐| is equal to

a) (𝑎 + 𝑏 + 𝑐)2 b)2(𝑎 + 𝑏 + 𝑐)2

c) (𝑎 + 𝑏 + 𝑐)3 d)2(𝑎 + 𝑏 + 𝑐)3

13. If [ ] denotes the greatest integer less than or equal to the real number under consideration and ―1 ≤ 𝑥 < 0;0 ≤ 𝑦 < 1;1 ≤ 𝓏 < 2, then the value of the determinant |
[𝑥] + 1 [𝑦] [𝓏][𝑥] [𝑦] + 1 [𝓏][𝑥] [𝑦] [𝓏] + 1| is

a) [𝑥] b) [𝑦] c) [𝓏] d)None of these

14. The values of 𝑥 for which the given matrix

[
―𝑥 𝑥 2
2 𝑥 ―𝑥𝑥 ―2 ―𝑥] will be non-singular, are

a) ―2 ≤ 𝑥 ≤ 2 b)For all 𝑥 other then 2 and ―2

c) 𝑥 ≥ 2 d)𝑥 ≤ ―2
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15. If all the elements in a square matrix 𝐴 of order 3 are equal to 1 or ―1, then |𝐴|, is

a) An odd number b)An even number c) An imaginary number d) A real number

16. Let 𝑎,𝑏,𝑐 be such that (𝑏 + 𝑐) ≠ 0 and

|
𝑎 𝑎 + 1 𝑎 ― 1―𝑏 𝑏 + 1 𝑏 ― 1𝑐 𝑐 ― 1 𝑐 + 1|

+ |
𝑎 + 1 𝑏 + 1 𝑐 ― 1𝑎 ― 1 𝑏 ― 1 𝑐 + 1

( ―1)𝑛+2𝑎 ( ―1)𝑛+1𝑏 ( ―1)𝑛𝑐|
1

= 0

Then the value of 𝑛 is

a) Zero b)Any even integer c) Any odd integer d)Any integer

17. Determinant |
1/𝑎 𝑎2 𝑏𝑐1/𝑏 𝑏2 𝑐𝑎1/𝑐 𝑐2 𝑎𝑏| is equal to

a)𝑎𝑏𝑐 b)
1𝑎𝑏𝑐 c) 𝑎𝑏 + 𝑏𝑐 + 𝑐𝑎 d)0

18. One root of the equation |
𝑥 ―6 ―1
2 ―3𝑥 𝑥 ― 3―3 2𝑥 𝑥 + 2|=0 is

a) 0 b)1 c) ―1 d)3

19. The value of |
𝑎2 𝑏2 𝑐2

(𝑎 + 1)2 (𝑏 + 1)2 (𝑐 + 1)2

(𝑎 ― 1)2 (𝑏 ― 1)2 (𝑐 ― 1)2| is
a) 4|

𝑎2 𝑏2 𝑐2𝑎 𝑏 𝑐
1 1 1

| b)3|
𝑎2 𝑏2 𝑐2𝑎 𝑏 𝑐
1 1 1

| c) 2|
𝑎2 𝑏2 𝑐2𝑎 𝑏 𝑐
1 1 1

| d)None of these

20. The value of the determinant

∆ = |
1 ― 𝑎3

1 𝑏3
1

1 ― 𝑎1 𝑏1

1 ― 𝑎3
1 𝑏3

2

1 ― 𝑎1 𝑏2

1 ― 𝑎3
1 𝑏3

3

1 ― 𝑎1 𝑏3

1 ― 𝑎3
2 𝑏3

1

1 ― 𝑎2 𝑏1

1 ― 𝑎3
2 𝑏3

2

1 ― 𝑎2 𝑏2

1 ― 𝑎3
2 𝑏3

3

1 ― 𝑎2 𝑏3

1 ― 𝑎3
3𝑏3

1

1 ― 𝑎3 𝑏1

1 ― 𝑎3
3 𝑏3

2

1 ― 𝑎3 𝑏2

1 ― 𝑎3
3 𝑏3

3

1 ― 𝑎3 𝑏3 

|, is
a) 0

b)Dependent only on 𝑎1,𝑎2,𝑎3

c) Dependent only on 𝑏1,𝑏2,𝑏3

d)Dependent on 𝑎1,𝑎2,𝑎3 𝑏1,𝑏2,𝑏3
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